
Item code: 03PL80RPull-Link PL-80R

1 - 2

POS. ID Item code Description Quantity

1 04L00022 Nosepiece F (6.4) 1

2 04L00021 Nosepiece E (6.0) 1

3 04L00020 Nosepiece D (4.8) 1

4 04L00019 Nosepiece C (4.0) 1

5 04L00018 Nosepiece B (3.2) 1

6 04Z00034 Front sleeve assembly 1

7 04L00015 Clamping sleeve 1

8 04 Z00035 Set of 3 jaws 1

9 04L00017 Pusher 1

10 04L00023 Push spring 8.6x1.2 L40 1

11 04L21351 Lever 1

12 04L21352 Body 1

13 04Z00119 Spring assembly 1

14 04L00663 Plate 4

15 04L00629 Short plate 12

16 04L00636 Slotted pin 1

17 04L00627 Long plate 4

18 04Z00167 Thread bolt assembly M6x44 1

19 04Z00166 Thread bolt assembly M6x44 1

20 04Z00102 Guiding bolt assembly M6x30.5 2

21 04Z00103 Bolt assembly M6x34.5 2

22 04Z00129 Bolt assembly M5x23 9

23 04Z00164 Thread bolt assembly M5x35 1

24 04Z00165 Thread bolt assembly M5x35 1

25 04L21305 Tackle 1

qonnect-fasteners.com



Pull-Link PL-80R

2 - 2 qonnect-fasteners.com

Item code: 03PL80R


